February 19 2013 6th.gwb - 1/2 - Tue Feb 19 2013 12:44:27




February 19 2013 6th.gwb - 2/2 - Tue Feb 19 2013 12:54:22

gp lrtanx _, o [ttex

1l + cotx [+ cot X
oy - ey P
Yhany = 213 cotx i S
' Ll
/‘l‘ S)!‘J( _ Q(}_\_ CobX e 1 s
(o5 Sin% <o )
b HUSy
‘ — =20 5% s M
s |+ X c;)wi
(‘D>><1-5,|'/\y _ Dslse 'f)(.vsx S’hx
Qosx S/:‘\X ()-5)(
' —éanx'- )
S/\rX((osxrs,u\x\ = (05)(/’?3/\’\)('\‘;{05;()
Sinx (W) Lo >><(SW)
C m rw
ShMx = Qwsv\\d e dess
= 75>
__5,_/_,\:_‘25— - 2 RPN
Cosx s  cods
toa = ) =
0. 434-436




